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Projectiie Motion Word Problem

At its lowest level, the Wiillamette River is 48 feet below the Hawthorne Bridge. During the last
snowstorm, Mr. Maurer threw a snowball off the bridge into the river. He threw the snowball up
with an initial speed of 32 feet per second. Ignore air resistance, and assume the constant of

gravity applies.

When doss the snowball reach its max height?

What is the max height?
What are the two times the snowball is 48 feet high?

When does the snowball hit the water?
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Remember to define your variables, show your work, and verify your answers.
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